
Coding Decoding Questions Overview
Coding Decoding Questions have a good weightage in the Banking Exam and the type of question asked in Banking exam

is similar to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they have tried to

elaborate the concept used in Coding Decoding Questions.

Coding Decoding Questions
Direction: Read the given information carefully and answer the following questions. In a certain code language, "Due

Insurance Premium Payable" is coded as "DR9 LK7 DK7 DW3" "Pay All Your Due Premium" is coded as "KZ3 QB4 DW3

LK7 XK3" '"Own Family Life Insured" is coded as "XU6 ML3 CR7 DO4" "Family will Insured" is coded as "KD4 XU6 CR7"

Question
What does "CR7 DW3 KZ3 XK3" represents in the same code language?

Difficulty : Moderate Average Time : 51 Seconds

Options :
1. Life all pay Insured

2. Premium pay all due

3. Insured pay and due

4. Due pay all insured

5. Cannot be determined

Solution
The correct answer is Option 4 i.e. Due pay all insured

Coding Pattern:

1st element of the code = The last letter of the word - 1

2nd element of the code = Reverse of the first letter of the word (when all letters are arranged in this way as shown in the

diagram)
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3rd element of the code = Number of letters in the word

Due Insurance Premium Payable

DW3 DR9 LK7 DK7

Pay All Your Due Premium

XK3 KZ3 QB4 DW3 LK7

Own Family Life Insured

ML3 XU6 DO4 CR7

Family Will Insured

XU6 KD4 CR7

Hence the correct answer is Due pay all insured.
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